AGREEMENT FORM FOR POLITICAL CANDIDATE ADVERTISEMENTS

(check applicat	ble box) RAL CANDID	ATE	☐ STAT	E/LOCAL CA	ANDIDATE
To Av Windo	vail Themselve w, Federal Ca	es of The Lov Indidates Mu	west Unit Cha st Sign The (arge During a	a Political On Page 3
	d Location: 1J · Fre Ino.	CA		Date	18/20
I,	yler M fof: Self	axwell			,
qualified candid party for the off in the election to be h	date of the	non-parti sno City election 5/3/202	isan Council	. Dist	political
Broadcast Length	Time of Day, Rotation or Package	Days	Class	Times per Week	Number of Weeks
		ee ettich	ed Jchedu	le)	
Total Charg	es: * 2 4		12082.50 N Net-Produc		sitedle ot.1 - 2132.50 Net

For programming that, in whole or in partial importance," list the matters be	art, "communicates a message re elow:	elating to any political matter of
I represent that the payment for the above		been furnished by:
Maxwell for	City Cancil	
and you are authorized to announce the t I represent that this person or entity is eig committee/organization of the legally qu	time as paid for by such person of ther a legally qualified candidate	or entity.
The name of the treasurer of the candidate	te's authorized committee is:	
Parinder	Bains	
This station has disclosed to me its politic and discount, promotional and other sales	cal advertising policies, includin s practices (not applicable to fed	g: applicable classes and rates; eral candidates).
THIS STATION DOES NOT DISCRIP OF RACE OR ETHNICITY IN THE P	MINATE OR PERMIT DISCR LACEMENT OF ADVERTISIN	IMINATION ON THE BASIS NG.
To Be Signed By Cand	didate or Authorized	d Committee
2/18/2020	Signature	rapules
To Be Signed By	y Station Represent	ative
Accepted	☐ Accepted in Part	Rejected
Pane the Signature	Printed Name	Key Allowathereyer

Tyler Maxwell for City Council

From: Paul Stuart Fhons: (559) 490-5951 Email paul.stvart@cumulus.com 2/14/2020 10:59 AM

Flight Dates: 02/17/2020 - 03/03/2020 Demo. P 25+	- 03/03/2020	Radio Market: FRESNC Survey: DEC19: Geography: Metro	Market: FRESNO Survey: DEC19 SD rv 1 (OCT-DEC) ography: Metro	,			
The state of the s				A CONTRACTOR OF THE CONTRACTOR			The state of the s
	Daypan	Length	Spots Unit Rate		Average Persons	Gis	CPM
			7.223	\$2,450.00	7,300	79,900	\$30.51
MACAN	A CONTRACTOR OF THE PARTY OF TH	The second secon	11 \$222.73	\$2,450,00	7.300	79.900	2 CES
Flight A - 1 wx (02/24)	The second of th	The second secon		The state of the s	The second secon		
		The second secon	11. \$222.73	\$2,450.00	7,300	79,900	\$30.51
Offer Preex (OIB)	the an explanation when the section is a section of the section of		11 \$222.73	\$2,450.00	7,300	79,900	\$30.5
	M-F 6A-10A	30	4 \$240.00	\$960.00	8,700	34,800	\$27 !
A CONTRACTOR OF THE PARTY OF	M-F 10A-3P	30	4 \$230.00	\$920.00	7,600	30.400	30
* * * * * * * * * * * * * * * * * * * *	M-F 3P-7P	30	3 \$190.00	\$570.00	4.900	14 700	828

NO N

The first demo listed is the Primary Demo.

This report was created in TAPSCAN using the following Radio information: FRESNO; DEC19 SD rv 1 (OCT-DEC); Metro, Multiple Dayparts Used; P 25+; See Detailed Sourcing Page for Complete Details, Copyright © 2020 The Nielsen Company. All rights reserved.





2/14/2020 10:59 AM

Schedule Grand Totals: 1 Week

Stations Redio Total KAJ-AM
Spoils 11
Unit Rate \$222.73 \$222.73
Total Cost \$2,450.00 \$2,450.00
Average Persons 7,300 7,300
Gls CPM \$30.51 79,900 \$30.51
CPM \$30.51 \$30.51

Accepted by Station

Date

This station does not discriminate in the sale of advertising lime and will accept no advertising which is placed with an intent to discriminate on the basis of race, gender or ethnicity. Advertiser hereby certifies that it is not buying broadcasting air time under this advertising sales contract for a discriminatory purpose, including but not limited to decisions not to place advertising on particular stations on the basis of race, gender, national origin or ancestry.

The first demo listed is the Primary Demo.

Copyright © 2020 The Nielsen Company. All rights reserved. This report was created in TAPSCAN using the following Redio information: FRESNO: DEC19 SD nr. 1 (OCT-DEC); Metro, Multiple Dayparts Used; P 25+, See Detailed Sourcing Page for Complete Details.

Page 2 of 3 Schedule

CONTRACT



KMJ-AM 1071 W. Shaw Ave. Fresno, CA 93711 (559) 490-5802

kmjnow.com

And:

Maxwell for City Council - In House Agency 1625 E Shaw Avenue Suite 130 Fresno, CA 93710

	Contract / Re	evision	Alt Order	#
	398133	1		
<u>Advertiser</u>			Original Date	⊋ / Revision
Maxwell/I/City Council			02/14/20	/ 02/14/20
Contract Dates	Estimate #			
02/24/20 - 02/28/20				
Product		***************************************		
Political				
	Billing Cycle	Billing	Calendar	Cash/Trade
	EOM/EOC	Broado	ast	Cash
	Property	Accour	nt Executive	Sales Office
	KMJ-AM	Paul St	tuart	Local-Fresno C
	Special Hand	ling		
	Demographic			
	Adults 25-54			
	Agy Code	<u>Adverti</u>	ser Code	Product 1/2
	Agency Ref		Advertiser	Ref

*Line Ch Start Date End Date Description	Start/End Time	Spots/ Days Length Week Rate	Type	Spots	Amount
N 1 KMJA 02/24/20 02/28/20 M-F <u>Start Date</u> <u>End Date</u> <u>Weekdays</u> <u>Spots/W</u> Week: 02/24/20 03/01/20 -1111 4	6a-10a <u>eek Rate</u> \$240.00	:30	NM	4	\$960.00
N 2 KMJA 02/24/20 02/28/20 M-F <u>Start Date</u> <u>End Date</u> <u>Weekdays</u> <u>Spots/W</u> Week: 02/24/20 03/01/20 1-111 4	10a-3p <u>eek Rate</u> \$230.00	:30	NM	4	\$920.00
N 3 KMJA 02/24/20 02/28/20 M-F <u>Start Date</u> <u>End Date</u> <u>Weekdays</u> <u>Spots/Wo</u> Week: 02/24/20 03/01/20111 3	3p-7p <u>eek Rate</u> \$190.00	:30	NM	3	\$570.00
		Totals		11	\$2,450.00

Time Period	# of Spots	Gross Amount	Agency Comm.	Net Amount
02/24/20 -02/28/20	11	\$2,450.00	(\$367.50)	\$2,082.50
Totals	11	\$2,450.00	(\$367.50)	\$2,082.50

Signature⁽

Tyley Male: 2/18/2020